-'i:ll |_. . |

B vocabulary

, Subtraction
, Regroup

1. Each child has exactly 95 rupees to spend. , Subtract

The cost of each toy is tshown with it. How .« Borro®
much change does each get back?

A4 rupees.

Arun gets back 22 rupees. Priya gets back

Shubham gets back | 1 rupees. Asma gets back . 3D rupees.

7. Tick (V) the pairs of numbers that have a difference of 15.

575 60 f ‘/871 73 49, 34 68, 12
R :

(/] X v \
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Using the Short Form

. Arrange the numbers one below
_161 = =100 - g _ | . the other according to place

% Y . value and subtract columnwise.

322 4 8 3 . Subtract the ones.

1

'~ 161 |*Subtract the tens.

s

322

— e —

'r

~+Subtract the hundreds.
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SUBTRACTING 3-DIGIT NUMBERS (WITH BORROWING)

Borrowing from tens to ones
Let us subtract 439 from 895.

Method 1: Using the Expanded Form
We write the given numbers in expanded form and then subtract as follow

? tens +)1 ten( L !
A ones

895 =8 hundreds 9 tens§5*9nes(/=’ 8 hundreds 8 tens 15 ones

_ 439 =4 hundreds 3 tens 9 ones = -4 hundreds 3 tens 9 ones

—

[ 4 hundreds 5 tens 6 ones =

/
i — — ——

Method 2: Using the Short Form

HT O Step 1: Subfract the ones. Borrow fr{)m tens, if req .
8 , lirec

15
g 5 Step 2: Subtract the tens.
3 Z l Step 3: Subtract the hundreds.
5 6

= B 00

|

¥( s k. 1
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Exercise 3B 1 e

Subtract:

Borrowing from hundreds to tens and from tens to ones

Let us subtract 389 from 653.

Write the numbers in column form as shown.

Step 1: Subtract the ones. Since 9 > 3, we cannot subtract 9 from 3.
So, borrow 1 ten from the tens column.

Then, 4 tens are left in the tens column, and 1 ten
(borrowed) + 3 ones = 13 ones in the ones column.
Subtracting 9 ones from 13 ones, we get 4 ones.

|"|.

HT O]
0

5 A 113

Step 2: Subtract the tens. Since 4 < 8, we cannot subtract i g g g q
8 from 4. So, borrow 1 hundred from the hundreds 5 o 4 |
column. Now, we have 5 hundreds left in the
hundreds column and 1 hundred (borrowed) + 4

tens = 14 tens in the tens column. Sﬁbtracting 8
tens from 14 tens, we get 6 tens.

Step 3: Subtract the hundreds. 5 hundreds - 3 hundreds = 2 hundreds.
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>n problem, first borrow 1 hundred from 8 hmBld:: 1
) tens you have 10 tens in the tens column. orrg
ns. 4 ones + 1 ten (borrowed) become 14 ones 11
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Example: The library purchased 435 new books this year for class 2. If

278 of them are storybooks, how many of them are general
books?

Solution: To get the number of general books, we subtract the number

of storybooks from the new books purchased. (YA
New books = 435
Storybooks = 278
General books = 435 - 278
= 157

R o
( m WKWWMHMeNAfmefxm%ﬁmWMmﬂ:W‘

Solve the following word problems.

=5~ A4 3
1. 825 people visited a book fair. HT 6
98 of them were children. Wy ¥
How many adults were there - 9 8
in the book fair? 2 +
6 15
. B TO
2. A farmer had 275 chickens. 27 9
He sold 169 of them. How __ " '6"]
many chickens were left? 4LO c

-
_‘3@
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3. G;eorge needs 260 pictures to fill
his album. He has 185 pictures
in the album. How many more
pictures can be put in the album?

O

6 )8
her havé  H T §
They are 77’ 7

trip. HOW —
ve tO

4. Navin and his fat

travelled 318 km.
taking a 700 km
much farther they ha

travel?

5. Prem had a collection of 212 bottle
caps. Ashok had a collection of 165
bottle caps. How many more bottle

caps were in Prems collection than
in Ashok’s?

- ij to
I 6. Vijay planted 325 small toma
g plants. 162 of the plants didwe &
fonl not live. How many plants — |

lived? {

7. Manav has 132 marbles. His
friend Ajay has 28 marbles less
than him. How many marbles
d?es Ajay have?

8. Aadhar is reading a book that has H '
275 pages. He read 129 pages on 9 7(
the first day. How many pages are
left for him to read?
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month of November. 289 fewer
visitors went to the zoo in December. 59
How many visitors went to the zoo -=-2
in the month of December? o

h
10, 623 visitors went to the zoo in the ﬁ
L

As vou Solv .
| € more and more word problems, it will become easier for
vou to decide whether to add or subtract

Read the problems carefully and solve.

I. There are 54 seats in a bus. Out of these,

-0 seals are occupied by passengers. How many
| seats are vacant? |

"his is a subtraction problem as the question
asked is “How many seats are vacant?”

2. A balloon seller had 97 red, 85 green and 80

vellow balloons. How many balloons did he
have in all?

I'his is an addition problem as the question
asked is “"How many balloons in all?”,

-
q I fm Y TS YNNI mmmmmmwww
r [ —_— - ' % b |

Will you add or subtract?
I. Janet had 253 oranges in her juice shop. She uses 165 oranges

to make some juice for a party. How many oranges are left with _E 5 7|

her? 6 5 ?
To get the number of left over oranges, we,need to subtract 165 L% g |

from 253.
a@* |
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5 . kies on HE
Mrs Brown baked 465 cookies on Saturday and 327 ; {::fekend? 4 ¢

Sunday.. How many cookies did she bake in all over th g 3 2 |
(o add 46.

To find the total number of cookies baked, we need Py
and 327, o (A
s SSL‘d

3. 762 People ran in the marathon this year. 485 P"”PIC L?:hing <
the finishing line. How many people did not cross the finis = Zf 2
line?
g Prggramme
collected this
year?

4. 280 bottles were collected during the recyclin
TN last year. 178 more bottles than last year were '
(-\ | year. What is the total number of bottles collected this ]

RO ) How many bottles were collected in both the years altogether?

5. There are 275 passengers and 423 pieces of luggage in a flight.
s are there?

How many more pieces of luggage than passenger B

€3 Mental Maths [ @ 21cs

1. 6 hundreds - 4 hundreds = 2

2. 10 less than 18 tens = o | h]O
3. 100 - 30 — 50 + 20. (Write <, > or =)

4. The next number in the sequence 175, 155, 135 and 115 is 105. True o e
5. The tens digit in the difference of 783 and 264 is Jf

Chapter Test S S W ) (2 S ) ) O O O O - - O -0 ;

1. Subtract: | b

'I '
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MCQS
Tick (*) the correct answer.

3. 40 less than 20 tens is

(a) 60 (b) 140 (¢) 240 \Ad) 160
4. 528 +

1“ 1 26

W) 162

(d) 3

6. The cost .Of a pair of shoes and a pair of socks is 2950. If the cost of the pair
of socks is X125, what is the cost of the pair of shoes?
{850 (b) 2800 LA 2825 (d) 2815

. A truitseller had 275 boxes of mangoes. He sold some boxes and had 161 boxes
ot mangoes left. How many boxes of mangoes did he sell?

140 \(Jy)/llfl (c) 436 (d) 119
8. Which of the following number sentences has an answer “six hundred
forty-eight™?
a) 900 - 372 (b) 383 + 255 (c) 862 - 264 \JA’/169 + 479
9. There are 300 rooms in a hotel. If 78 rooms are still vacant, how many rooms

areé ’r:.uoked? :
a) 122 \/(‘@)(222 (c) 232 (d) 432

10. Neha saves 2710 from her pocket money whereas Rhea saves X225 less than
Neha, How much does Rhéa save?

(a) 2935 | T (b) 2260 T 2485 (d) 465

Subtract the sum of 378, 195 and 69 from the largest 3-digit number.
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Drun nctui 3 WO
o - at a Hime ;
& Two to four players can play the 837 ° s from 0 ¥ )'helow
® Each player needs 3 sets of number €& ‘“ 9 as ghowT
1. Cut out 3 sets of number cards from 0 7/'
e e i
2 | @
2 1 ¢ Three |
ne e | ——
5 6 7 FaE
. B ¢ Eight |
Six Seven |
e bers are written dO :
{ umbe€
2. Mix up the cards with the face on which the n
Then each player turns siX cards face up: - - 3
_ | 2
4 9 & o e
3 . 2 Eight - |
Four | Nine Eight __ g 1 =
[T 5
1 5 & . | ®
AR ¢ : Five ‘ . One |
 One Five Eight | b
. t numbe
bove 6 cards to get tWO 3-digl

3. Now, each player arranges the a
4 Subtract the numbers. The player with
5. Play 5 rounds. The player with the maximum points

the least difference SCOTES 10 poin

wins.

- il el

% Quick Review ) -

1. Write the sum of 275 and 318 in words. umdhle
2. Which is the least number: 978, 875, 897 or 9872 ) 979

P i kshop has 578 magazines, out of which 299 are sports m
| A e hildren’s magazines. What is the number of cl -hi

i es? Write this number in expanded form. 27q

»
WA/ 'UMLA
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“  Solve the problems in column A and match the differences to the numbers
given in column B. \

(b) Two hundred two =)[)

(¢) 2 hundreds 7 tens

240

(d) 800 - 486 = 3| b
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